First Names Knots Candy Bars
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Baby Ruth .
Smickers Logic Puzzles

Presented by Puzzle Baron

Three Musketeers

Twix Puzzle ID: B713EK
For hints, solutions and more puzzles, go to
bowline www.Printable-Puzzles.com!
half-hitch Ages First Names Knots Candy Bars
halyard 19
alyar
Y 29
sheet 45
63

1. The person who bought the Baby Ruth is not Ryleigh or Allison.

2. The 19 year-old taught the half-hitch knot.

3. The scoutmaster who taught the sheet knot is not Zion.

4. The scoutmaster who taught the half-hitch knot is younger than Zion.

5. Of the person who bought the Three Musketeers and Zion, one is 45 years old and the other taught the bowline knot.
6. The scoutmaster who taught the halyard knot is not Zion or Allison.

7. The 19 year-old didn't buy the Baby Ruth.

8. Either the person who bought the Baby Ruth or the person who bought the Three Musketeers is Zion.

9. The scoutmaster who taught the half-hitch knot is younger than the scoutmaster who taught the bowline knot.
10. The person who bought the Twix didn't teach the bowline or half-hitch knot.

11. The person who bought the Twix didn't teach the sheet knot.

12. The 29 year-old didn't teach the halyard knot.

13. The 19 year-old is Bethany.
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